Example 1
AutoQC EIC looks great:
[image: A graph of a function

Description automatically generated]

Retention time shift, AutoQC doesn’t integrate correct peak:
[image: A graph of a number and a line

Description automatically generated with medium confidence]



ZOOMED in_Retention time shift, AutoQC doesn’t integrate correct peak. Skyline is integrating noise, even though the correct peak at 13.81 minutes is within the explicit retention time window:
[image: A graph with numbers and a line

Description automatically generated]
Example 2
AutoQC EIC looks great:
[image: A graph of a function

Description automatically generated with medium confidence]

Retention time shift, AutoQC doesn’t integrate correct peak:

[image: A graph of a number and a line

Description automatically generated]

Example 3
AutoQC EIC looks great:
[image: A graph of a function

Description automatically generated]

Retention time shift, AutoQC doesn’t integrate correct peak:
[image: A graph of a function

Description automatically generated]
Retention time shift, AutoQC integrates correct peak. The RT is 9.98 just like the EIC above, yet this one was correctly integrated and the former ^^ was not:

[image: A graph of a function

Description automatically generated]
image7.png
Intensity (10%6)

15

—— Ton 327300549327 300549] - 3273000+

|— lon [121:100549/121.100549] - 121.1000+

Explict  9.98
o7

1066

85 9.0 95 10.0
Retention Time

105

110




image8.png
Intensity (10%6)

—— Ton 327300549327 300549] - 3273000+
|— lon [121:100549/121.100549] - 121.1000+

Bt ggg
o7 -

9.0 95 10.0
Retention Time

105

110




image1.png
Intensity (1043)

80
70
60
50
40
30
20
10

lon [109.000649/109.000549] - 109.0000+
lon [97.000549/07.000549] - 97.0000+
Explict
134
13.41
-,
14.05
120 125 13.0 135 140 145

Retention Time




image2.png
Intensity (1043)

40

30
25
20
15
10

lon [109.000649/109.000549] - 109.0000+
lon [97.000549/07.000549] - 97.0000+

Explicit
et 13

13.153.21344 58
e

125

13.0 135 140 145 15.0
Retention Time




image3.png
Intensity (1043)

40

30
25
20
15
10

lon [109.000649/109.000549] - 109.0000+
lon [97.000549/07.000549] - 97.0000+

Explicit
e 1381

1328 4344 3 1355

133 134 135 136 137 138 139

Retention Time




image4.png
Intensity (1043)

lon [285.100549/285 100549] - 285 1000+
lon [259.100549/259 100549 - 259 1000+
lon [120.900549/120 900549 - 120 9000+

Explicit
136

1350

14.15 14.36
13,95 —mmrm

12.93 13431331

125 13.0 135 140 145 15.0
Retention Time




image5.png
Intensity (1043)

o 2N w & 9 @
= 88 8 88

lon [285.100549/285 100549] - 285 1000+
lon [259.100549/259 100549 - 259 1000+
lon [120.900549/120 900549 - 120 9000+

Explic

141242431 401454
Ay

e

135 140 145
Retention Time

15.0




image6.png
Intensity (1043)

900
800
700
600
500
400
300
200
100

— lon [121.100549/121:100549] - 1211000+

— lon [327.300549/327.300549] - 3273000+

E3s

85 9.0 95 10.0
Retention Time

105

110




